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 1שאלה 

 קמ"ש 3.6.  א

 13:24ב.  

 

 2שאלה 

 B(-2 , 2)   ,   A(0 , 8)   א.

 C (18 , 2)  ב. 

  ·3  =-1הוכחה:      ג.
1

3
 - = BAm·CAm 

 43ד.  
1

3
 

 

 3שאלה 

 0.3    א.

 0.75 ב.  

 100  .1ג

  0.248. 2ג

 

 4שאלה 

 הוכחהא. 

 הוכחהב. 

 DB = 4√3. 1ג

 DC = 6. 2ג

 

 



 
 

 

 5שאלה 

 BAC = 80.174°∢  .א

 DB = 6.328  ב. 

  BE = 7.637  ג.

 

 6שאלה 

 x ≠ 0  א.

 x = 0    ,y = 2  .ב

 (0 , 3),    (0 , 1.5-)ג.  

 max (-6 , 2.25)   .ד

 ה.

 

 x = 3    ,x = -1.5ו.   

 

 7שאלה 

 x ≥ -a .  א

 a = 2.25.  ב

 (0 , 2.25-)  ,  (0 , 0)  .1ג

 max (-2.25 , 0)    ,min (-1.5 , -2.598)  .2ג

 

 



 
 

 

 .  3ג

 

 Iד.  גרף 

 2.598ה.  

 

 8שאלה 

  )16+2t-t ,  A(    ,) 24)-t , (t B(    ,+16 )2t-t , -C (.  א

t = 2ב. 
2

3
 


